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1. The five-year survival rate after treatment of all varieties of carcinoma 

of the tongue is

A.  10%



B.  15%

C.  25%



D.  40%





(
)

2. Cock’s peculiar tumour is synonymous with

A. rodent ulcer of the nose


B. local osteomyelitis of the cranium

C. chronic infection of a sebaceous cyst

D. keratin horn of the heel






(
)

3. A tuberculous ulcer has

A.  a shelving edge

B.  a rolled edge


C.  an underminded edge

D.  an everted edge



(
)

4. A choledochus cyst is

A.   congenital

B.   parasitic

C. more common in males than in females

D. symptomless








(
)

5. Courvoisier’s Law concerns

A. the length of a skin flap in skin grafting

B. ureteric calculi

C. jaundice

D. portal hypertension







(
)

6. Which of the following is not correct in the presentation of carcinoma of the thyroid ?

A.   Earache

B.   Hoarseness of the voice

C.   A pulsating bone tumour

D.   The sex ratio is 3 males to 1 female





(
)

7. The term lateral aberrant thyroid implies

A.  congenital aberrant thyroid tissue lateral to the thyroid

B.  a metastasis in a cervical lymph node from an occult  thyroid carcinoma

C.  a metastasis from carcinoma of the larynx

D.  a type of branchial cyst






(
)

8. Mondor’s disease is

A. an obscure type of thrombophlebitis particularly affecting veins of the breast

B.  lymphoedema of the arm

C.  chondritis of a costal cartilage

D.  pectus excavatum







(
)

9. Respiratory arrest due to respiratory alkalosis is rectified by

A.   insufflation with carbon dioxide

B.   insufflation with oxygen

C.   insufflation with helium

D.   immediate tracheotomy






(
)

10. The acute acidosis which occurs after releasing a cross-clamped aorta 

      (during operation for aneurysm), or in cardiac arrest requires the infusion of

A. 25 ml 6.4% sodium bicarbonate

B. 50-150 mEq 6.4% sodium bicarbonate

C. 50-150 mmol 8.4% sodium bicarbonate

D. 150-250 ml 10% sodium bicarbonate





(
)

11. The boundaries of the inguinal canal include

A. anteriorly-transversalis fascia

B. posteriorly-conjoined tendon

C. superiorly-conjoined muscles

D. inferiorly-inguinal ligament






(
)

12. Which of the following clinical features is not related to hyperparathyroidism:

A. Risus sardonicus

B. Psychic moans

C. Abdominal groans

D. Pain from renal stones






(
)

13. The foramen of Bochdalek occurs in

A. the base of the skull

B. the heart

C. the diaphragm

D. the pelvis








(
)

14. Which is the only acceptable solution here for the injection of haemorrhoids ?

A.  5% sodium tetradecyl sulphate

B.  5% phenol in almond or arachis oil

C.  5% phenol in water

D.  Pure almond or arachis oil 






(
)

15. The following, save one, simulate external haemorrhoids :

A. Anal warts

B. Condylomas

C. Hypertrophic tuberculide

D. Leucoplakia








(
)

16. Grey-Turner sign in acute pancreatitis is

A. discoloration in the loins

B. shifting dullness over the spleen

C. discoloration around the umbilicus

D. a fluid level in the first loop of the jejunum




(
)

17. Madura foot is 

A. an infection caused by a type of monilia

B. a swelling due to a stress fracture of the second metatarsal

C. an infection caused by a type of actinomyces

D. a swelling due to an infected perforating ulcer




( 
)

18. A patient with a pH 7.30, PCO2 60 mmHg, Base excess +2 has

A. uncompensated respiratory acidosis

B. severe metabolic acidosis

C. compensatory metabolic alkalosis

D. metabolic alkalosis







(
)

19. ‘Carbohydrate provides the fire in which fat is burnt’, so when fat is used as 

a source of calories it is necessary that

A. 15% of the total should be carbohydrate

B. 20% of the total should be carbohydrate

C. 30% of the total should be carbohydrate

D. 40% of the total should be carbohydrate





(
)

20. A Thiersch graft is

A. a partial thickness skin graft

B. a pinch skin graft

C. a small full thickness skin graft

D. a pedicle graft







(
)

------   END ------
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